ol

76.5 4

55X 2+65X3+T7HXT7+8 X6+ 95%2

20

110 + 195 + 525 + 510 + 190

1530

= 76.5() olth.
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3. o2 BE oL stg g4 50 Foll thet 45U AFH SAg
A& A48 245 A 0, o] o] BE WEA4E Folof
2h(, & A A 7HA] F5keie)

FaEs | a4
Oo] A N 21:1]5"_} 3
PRV A

4°|"J o 6“]‘?_} 11
677 ~ 8T [ 13
87 ~ 10 [ 10
10°7% ~ 12 6
12~ 14 2

A=50- (34114134 10+ 6+ 2) A

A=5

I1X3+3x5+5x11+7x13+9x 10
50

= 6.92 (%) ot}

11Xx6+13%2
+ 50
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rlo

® P//Q, PLR °|®¥ Q//R o[t}
@ P//Q, Q//ROIHPLR °|tt.
® PLQ, PLR °]¥ QLR °Jt}.
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@)PLq. Q//R oW PLR o]t
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